
ŝ

$%675$.

:,'<$� 1(1*6,+� �������������� �� 3HQHUDSDQ� 3ULQVLS� 7UDQVSDUDQVL� 'DQ�

$NXQWDELOLWDV�'DODP�3HODNVDQDDQ�3HOD\DQDQ�3XEOLN�'L�.HOXUDKDQ�$ODL�3DUDN�.RSL�

.HFDPDWDQ�3DGDQJ�8WDUD�.RWD�3DGDQJ

3HQHOLWLDQ� LQL� PHPSXQ\DL� WXMXDQ� XQWXN� PHQJJDPEDUNDQ� SHQHUDSDQ� SULQVLS

WUDQVSDUDQVL�GDQ�DNXQWDELOLWDV�GL�.HOXUDKDQ�$ODL�3DUDN�.RSL�.RWD�3DGDQJ��3HQHOLWLDQ�LQL�

PHQJJDPEDUNDQ� WUDQVSDUDQVL� SHOD\DQDQ� \DQJ� GLOLKDW� GDUL� NHWHUEXNDDQ� SHOD\DQDQ��

SURVHGXU�GDQ�SHUV\DUDWDQ�SHOD\DQDQ�\DQJ�GDSDW�GLSDKDPL�PDV\DUDNDW��NHPXGDKDQ�DNVHV�

LQIRUPDVL� GDQ� DNXQWDELOLWDV� SHOD\DQDQ� \DQJ� GLOLKDW� GDUL� NHVHVXDLDQ� SHODNVDQDDQ� GHQJDQ�

SURVHGXU�SHOD\DQDQ��NHMHODVDQ�DWXUDQ�KXNXP��RXWSXW�GDQ�RXWFRPH�\DQJ�WHUXNXU��

3HQHOLWLDQ�LQL�DGDODK�SHQHOLWLDQ�GHVNULSWLI�GHQJDQ�SHQGHNDWDQ�NXDQWLWDWLI��3RSXODVL�

SHQHOLWLDQ�LQL EHUMXPODK��������GHQJDQ�VDPSHO�VHEDQ\DN����UHVSRQGHQ�\DQJ�GLWHQWXNDQ�

GHQJDQ� UXPXV�6ORYLQ� GDQ�PHQJJXQDNDQ� WHNQLN� UDQGRP� VDPSOLQJ�� ,QVWUXPHQ�SHQHOLWLDQ�

GLDQDOLVLV�PHQJJXQDNDQ�NXHVLRQHU�GHQJDQ�SHQJXNXUDQ�VNDOD�OLNHUW��'DWD�GDODP�SHQHOLWLDQ�

LQL�GLDQDOLVLV�GHQJDQ�VWDWLVWLN�GHVNULSWLI�

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� SHQHUDSDQ� SULQVLS� WUDQVSDUDQVL� GDODP�

SHOD\DQDQ�PHQFDSDL� ������GDQ� GLNDWHJRULNDQ� FXNXS� WUDQVSDUDQ�� KDQ\D� VDMD� EHOXP� DGD�

SHQ\HEDUDQ�LQIRUPDVL�PHODOXL�PHGLD�FHWDN�DWDX�HOHNWURQLN��6HGDQJNDQ�SHQHUDSDQ�SULQVLS�

DNXQWDELOLWDV�GDODP�SHOD\DQDQ�PHQFDSDL�������GDQ�GLNDWHJRULNDQ�FXNXS�DNXQWDEHO�
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